Table Q1

Q1 - Currently, Quebec must import (from Western Canada or from abroad) all of the oil it consumes. In your opinion, should Quebec develop its own oil resources or continue to import 100% of the oil it needs?

““““

Total Less Th

(22) (A) (B) (<) (D) (E) (F) (G) (H) (N (1) (K) (M)
Total 273 70 91 112 133 140 s = 273 = 86 97 90 82 77 84
100.0% 25.7% 33.4% 40.9% 48.7% 51.3% 100.0% 31.5% 35.4% 32.9% 30.2% 28.1% 30.7%
Total Unweighted 405 109 137 159 194 211 = - 405 - 125 144 135 121 113 127
100.0% 26.9% 33.8% 39.3% 47.9% 52.1% 100.0% 30.9% 35.6% 33.3% 29.9% 27.9% 31.4%
Develop its own oil resources 148 41 43 64 73 75 = = 148 = 52 51 44 45 40 45
54.2% 58.3% 47.4% 57.3% 54.8% 53.7% 54.2% 60.4% 52.8% 49.5% 55.2% 51.8% 53.6%

b b 1

Continue to import 100% of the oil it 79 22 27 30 48 31 s = 79 = 18 31 31 21 24 29
needs 29.0% 30.8% 30.2% 27.0% 36.2% 22.2% 29.0% 20.6% 31.7% 34.4% 25.1% 31.3% 34.7%
E J J m
I don't know/I prefer not to answer 46 8 20 18 12 34 - - 46 - 16 15 14 16 13 10

16.7% 10.9% 22.4% 15.7% 8.9% 24.1% 16.7% 18.9% 15.4% 16.1% 19.7% 16.9% 11.7%
A D o



Table Q2

Q2 - Would you be in favor or opposed to the Canadian government increasing the incentive measures offered so they would be the equivalent to those offered by the American government?

““““

(22) (A) (B) (<) (D) (E) (F) (G) (H) (N (1) (K) (M)
Total 1162 319 395 447 564 598 363 447 273 80 353 327 476 397 298 350
100.0% 27.5% 34.0% 38.5% 48.6% 51.4% 31.2% 38.4% 23.5% 6.9% 30.4% 28.1% 41.0% 34.2% 25.6% 30.1%
Total Unweighted 1162 306 399 457 556 606 316 376 405 65 351 342 464 391 304 348
100.0% 26.3% 34.3% 39.3% 47.8% 52.2% 27.2% 32.4% 34.9% 5.6% 30.2% 29.4% 39.9% 33.6% 26.2% 29.9%
*** NET In favor 684 171 225 288 355 329 197 268 164 55] 181 200 303 220 184 229
58.9% 53.5% 56.9% 64.4% 62.8% 55.1% 54.2% 60.1% 60.1% 68.7% 51.2% 61.2% 63.6% 55.5% 61.9% 65.4%
AB E F J J M
Strongly in favor 200 50 67 84 118 82 61 79 47 13 62 59 79 51 56 78
17.2% 15.5% 16.8% 18.7% 20.9% 13.7% 16.7% 17.6% 17.3% 16.6% 17.6% 17.9% 16.5% 12.8% 18.9% 22.4%
E M M
Somewhat in favor 484 121 159 205 237 247 136 190 117 42 119 141 224 170 128 151
41.7% 37.9% 40.1% 45.7% 42.0% 41.4% 37.5% 42.5% 42.8% 52.1% 33.6% 43.2% 47.0% 42.7% 43.0% 43.0%

A F J J
*** NET Opposed 209 56 80 73 122 87 81 74 44 10 63 58 86 68 56 66
18.0% 17.4% 20.4% 16.3% 21.7% 14.5% 22.3% 16.5% 16.2% 12.8% 17.9% 17.9% 18.1% 17.2% 18.8% 18.9%
E aHI
Somewhat opposed 121 42 43 36 66 55] 40 47 26 8 38 32 51 40 31 43
10.4% 13.2% 10.9% 8.1% 11.7% 9.2% 10.9% 10.6% 9.7% 10.1% 10.6% 9.9% 10.8% 10.2% 10.3% 12.4%
(o}
Strongly opposed 88 13 37 37 56 31 41 26 18 2 26 26 35 28 25 23
7.5% 4.2% 9.5% 8.2% 9.9% 5.3% 11.4% 5.9% 6.5% 2.7% 7.2% 7.9% 7.3% 7.1% 8.5% 6.5%
A A E GHI

I don't know/I prefer not to answer 269 93 90 86 87 182 85 105 65 15 109 69 87 108 58 55
23.2% 29.2% 22.7% 19.3% 15.5% 30.4% 23.5% 23.4% 23.7% 18.5% 30.9% 21.0% 18.3% 27.3% 19.4% 15.7%

bC D KL NO



Table Q3

Q3 - In your opinion, is it preferable for the oil imported from outside Quebec to come from...

““““

Total Less Th

(22) (A) (B) (<) (D) (E) (F) (G) (H) (N (1) (K) (M)

Total 273 70 91 112 133 140 s = 273 = 86 97 90 82 77 84
100.0% 25.7% 33.4% 40.9% 48.7% 51.3% 100.0% 31.5% 35.4% 32.9% 30.2% 28.1% 30.7%
Total Unweighted 405 109 137 159 194 211 = - 405 - 125 144 135 121 113 127
100.0% 26.9% 33.8% 39.3% 47.9% 52.1% 100.0% 30.9% 35.6% 33.3% 29.9% 27.9% 31.4%
Western Canada 211 53 66 93 101 111 s = 211 = 64 78 69 65 55 68
77.5% 75.8% 72.1% 83.0% 75.8% 79.2% 77.5% 74.4% 80.6% 77.0% 78.7% 71.6% 81.7%
B n
The United States 23 8 10 6 16 8 s = 23 = 10 7 6 7 8 7
8.6% 10.9% 11.2% 5.0% 11.7% 5.6% 8.6% 11.2% 7.6% 7.2% 8.0% 10.6% 8.7%

c c E
Other 6 3 1 2 5 1 s = 6 = 2 2 2 1 2 2
2.3% 4.0% 1.5% 1.9% 3.7% 1.0% 2.3% 2.5% 2.1% 2.3% 1.7% 2.7% 2.5%

e
I don't know/I prefer not to answer 32 7 14 11 12 20 - - 32 - 10 9 12 10 12 6

11.6% 9.3% 15.2% 10.1% 8.8% 14.2% 11.6% 11.9% 9.7% 13.5% 11.6% 15.1% 7.1%
d



Table Q4

Q4 - In your opinion, which of the following is the safest means of transporting oil?

““““

(22) (A) (B) (<) (D) (E) (F) (G) (H) (N (1) (K) (M)
Total 1162 319 395 447 564 598 363 447 273 80 353 327 476 397 298 350
100.0% 27.5% 34.0% 38.5% 48.6% 51.4% 31.2% 38.4% 23.5% 6.9% 30.4% 28.1% 41.0% 34.2% 25.6% 30.1%
Total Unweighted 1162 306 399 457 556 606 316 376 405 65 351 342 464 391 304 348
100.0% 26.3% 34.3% 39.3% 47.8% 52.2% 27.2% 32.4% 34.9% 5.6% 30.2% 29.4% 39.9% 33.6% 26.2% 29.9%
Pipeline 664 138 211 s 360 304 226 252 135 51 203 185 274 204 168 231
57.1% 43.1% 53.4% 70.5% 63.7% 50.9% 62.4% 56.3% 49.5% 63.8% 57.4% 56.8% 57.5% 51.4% 56.2% 66.0%
A AB E H h H MN
Train 95 37 30 28 44 51 22 30 37 7 32 28 36 34 29 22
8.2% 11.4% 7.7% 6.4% 7.8% 8.6% 6.0% 6.6% 13.6% 8.8% 9.0% 8.5% 7.5% 8.5% 9.8% 6.3%
(o} FG
Tanker Truck 111 36 45 29 56 55] 88 47 26 4 27 36 48 48 33 24
9.5% 11.3% 11.5% 6.5% 9.9% 9.2% 9.1% 10.6% 9.7% 5.0% 7.6% 10.9% 10.1% 12.0% 11.0% 6.9%
(o} C i o o
Boat 47 18 15 13 25 22 15 15 15 1 16 10 18 13 13 16
4.0% 5.7% 3.9% 3.0% 4.5% 3.6% 4.1% 3.5% 5.6% 1.5% 4.7% 3.2% 3.9% 3.3% 4.5% 4.5%
I
I don't know/I prefer not to answer 245 91 93 61 80 166 67 103 59 17 75 67 100 99 55 57
21.1% 28.5% 23.6% 13.7% 14.1% 27.7% 18.5% 23.0% 21.6% 21.0% 21.3% 20.6% 21.0% 24.8% 18.4% 16.3%



Table Q5

Q5 - The invasion of Ukraine by Russia has destabilized Europe’s energy supply because several countries, like Germany, depended on Russian natural gas. To what extent do you think that Quebec should exploit its own natural gas resources to export some to Europe?

““““

(22) (A) (B) (<) (D) (E) (F) (G) (H) (N (1) (K) (M)
Total 273 70 91 112 133 140 s = 273 = 86 97 90 82 77 84
100.0% 25.7% 33.4% 40.9% 48.7% 51.3% 100.0% 31.5% 35.4% 32.9% 30.2% 28.1% 30.7%
Total Unweighted 405 109 137 159 194 211 = - 405 - 125 144 135 121 113 127
100.0% 26.9% 33.8% 39.3% 47.9% 52.1% 100.0% 30.9% 35.6% 33.3% 29.9% 27.9% 31.4%
*** NET Agree 166 43 54 69 87 79 s = 166 = 50 60 56 49 44 54
60.8% 61.4% 59.4% 61.6% 65.4% 56.5% 60.8% 58.6% 62.0% 62.1% 59.4% 57.5% 64.8%

e
Completely agree 70 16 26 28 48 22 = = 70 = 17 26 28 18 18 24
25.8% 23.2% 28.7% 25.0% 36.0% 16.1% 25.8% 19.9% 26.5% 30.7% 21.5% 23.9% 28.7%
E J
Somewhat agree 96 27 28 41 39 56 s = 96 = 33 34 28 31 26 30
35.1% 38.2% 30.7% 36.6% 29.4% 40.4% 35.1% 38.7% 35.5% 31.4% 37.8% 33.6% 36.1%
D
*** NET Disagree 76 20 25 32 35 41 s = 76 = 22 26 29 21 22 27
28.0% 28.3% 27.6% 28.2% 26.3% 29.7% 28.0% 25.3% 26.4% 31.9% 25.5% 28.3% 32.1%
Somewhat disagree 44 12 13 19 16 27 s = 44 = 11 16 16 11 14 17
16.0% 17.1% 13.9% 16.9% 12.4% 19.4% 16.0% 12.7% 16.7% 18.3% 13.1% 17.9% 20.3%
d

Completely disagree 33 8 12 13 19 14 - - 33 - 11 9 12 10 8 10
12.1% 11.2% 13.7% 11.3% 14.0% 10.3% 12.1% 12.6% 9.7% 13.5% 12.4% 10.4% 11.8%
I don't know/I prefer not to answer 30 7 12 11 11 19 - - 30 - 14 11 5 12 11 3

11.2% 10.4% 13.0% 10.2% 8.3% 13.9% 11.2% 16.1% 11.6% 6.1% 15.1% 14.2% 3.1%
d L o o



Table Q6

Q6 - To what extent do you agree that the government should reverse its decision and approve this project?

““““

(22) (A) (B) (<) (D) (E) (F) (G) (H) (N (1) (K) (M)
Total 1162 319 395 447 564 598 363 447 273 80 353 327 476 397 298 350
100.0% 27.5% 34.0% 38.5% 48.6% 51.4% 31.2% 38.4% 23.5% 6.9% 30.4% 28.1% 41.0% 34.2% 25.6% 30.1%
Total Unweighted 1162 306 399 457 556 606 316 376 405 65 351 342 464 391 304 348
100.0% 26.3% 34.3% 39.3% 47.8% 52.2% 27.2% 32.4% 34.9% 5.6% 30.2% 29.4% 39.9% 33.6% 26.2% 29.9%
*** NET Agree 568 131 187 251 334 234 199 179 145 46 175 159 231 177 143 204
48.9% 41.1% 47.2% 56.0% 59.2% 39.2% 54.9% 40.1% 53.0% 57.2% 49.6% 48.6% 48.5% 44.5% 48.0% 58.4%
AB E G G G MN
Completely agree 261 47 84 130 179 82 100 72 65 23 85 69 105 77 56 108
22.4% 14.6% 21.1% 29.2% 31.7% 13.7% 27.7% 16.2% 24.0% 28.4% 24.1% 21.3% 22.0% 19.3% 18.8% 31.0%
A AB E G G G MN
Somewhat agree 308 85 103 120 155 153 99 107 79 23 90 89 126 100 87 96
26.5% 26.5% 26.1% 26.9% 27.5% 25.5% 27.2% 23.9% 29.1% 28.8% 25.5% 27.4% 26.5% 25.2% 29.1% 27.4%
*** NET Disagree 267 86 84 97 123 144 67 102 83 16 65 83 117 89 78 76
23.0% 26.9% 21.3% 21.7% 21.9% 24.1% 18.4% 22.8% 30.3% 20.2% 18.5% 25.5% 24.6% 22.4% 26.1% 21.8%

FGi J J
Somewhat disagree 156 55 50 52 71 85 40 59 43 13 38 52 64 54 44 46
13.4% 17.2% 12.5% 11.5% 12.6% 14.2% 11.0% 13.3% 16.0% 16.3% 10.7% 16.0% 13.5% 13.6% 14.9% 13.2%
(o} f J
Completely disagree 111 31 34 46 52 59 27 42 39 3 28 31 53 35 33 30
9.6% 9.8% 8.7% 10.2% 9.3% 9.8% 7.3% 9.5% 14.4% 3.9% 7.8% 9.4% 11.1% 8.9% 11.2% 8.6%
i FGI

I don't know/I prefer not to answer 326 102 125 99 107 219 97 166 45 18 113 85 128 131 77 69
28.1% 32.0% 31.6% 22.2% 19.0% 36.7% 26.8% 37.1% 16.6% 22.6% 31.9% 25.9% 26.9% 33.0% 25.9% 19.8%

C C D H FHI k NO o



Table Q7
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K"V"V’“‘b ‘sacrifices to fight climate 60.1% 56.8% 59.9% 62.7% 60.0% 60.29% 66.5% 56.4% 55.7% 67.4% 72.8% 63.9% 47.6% 66.4% 56.0% 53.0%
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